macbook-prco-de-david-vallance:~ David$ mf

This is METAFONT, Version 2.718281 (TeX Live 2011)
**n_gras.mf

(n_gras.mf [49] )

Output weitten on n_gras.2602gf (1 charcacter, 1376 bytes].
Teansceipt weitten on n_gras.log.
macbook-pro-de-david-vallance:~ David$ gftodvi n_gras.2602gf
macbook-prco-de-david-vallance:~ David$ mf

This is METAFONT, Version 2.718281 (TeX Live 2011)

**n_inc

(n_inc.mf [49] )

Output weitten on n_inc.2602gf (1 chacacter, 1228 bytes].
Teansceipt weitten on n_inc.log.
macbook-pro-de-david-vallance:~ David$ gftodvi n_inc.2602gf
macbook-pco-de-david-vallance:~ David$ mf

This is METAFONT, Version 2.718281 (TeX Live 2011)

**n_ital

(n-ital.mf [49] )

Output weitten on n_ital.2602gf (1 charcacter, 1276 bytes].
Teansceipt weitten on n_ital.log.
macbook-pro-de-david-vallance:~ David$S gftodvi n_ital.2602gf
macbook-pco-de-david-vallance:~ David$ mf

This is METAFONT, Version 2.718281 (TeX Live 2011)

**n_lin

(n-lin.mf [49] )

Output weitten on n_1in.2602gf (1 chacacter, 1352 bytes].
Teansceipt weitten on n_lin.log.
macbook-pro-de-david-vallance:~ David$ gftodvi n_1in.2602gf
macbook-pco-de-david-vallance:~ David$ mf

This is METAFONT, Version 2.718281 (TeX Live 2011)
**n_maigre

(n_maigre.mf [49] )

Output weitten on n_maigre.2602gf (1 chacacter, 1288 bytes].
Teansceipt weitten on n_maigre.log.
macbook-pro-de-david-vallance:~ David$ gftodvi n_maigre.2602gf
macbook-pco-de-david-vallance:~ David$ mf

This is METAFONT, Version 2.718281 (TeX Live 2011)

**n_mec

(n_mec.mf [49] )

Output weitten on n_mec.2602gf (1 chacacter, 1316 bytes].
Teansceipt weitten on n_mec.log.
macbook-pro-de-david-vallance:~ David$ gftodvi n_mec.2602gf
macbook-pco-de-david-vallance:~ David$ mf

This is METAFONT, Version 2.718281 (TeX Live 2011)

**n_ss



beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numeric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; 00=.2u;

plein=1.1u; delie=.2u;

pointe=.2u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numeric decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3c=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numecic empat; empat=x11lep-x12=1.55u;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31l..{down}z4l))]);
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke zl12e{cight}..z13e & z13e..{cight}zl4e;

endchar;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; 00=.2u;

plein=2:2U; delie=.2u;

pointe=.4uU; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numecic decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numecic empat; empat=x11lp-x12=1.55u;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; 00=.2u;

plein=1.1u; delie=.4u;

pointe=.2u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numecic decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numeric empat; sempat=xtlo=xi2=y5u3
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; 00=.2u;

plein=1.1u; delie=.2u;

pointe=.2u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numeric decalage; decalage=4.5;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numecic empat; empat=x11lp-x12=1.55u;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; 00=.2u;

plein=2.2u; delie=.2u;

pointe=.4u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numecic decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numecic empat; empat=xlle-x12=0u;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; 00=.2u;

plein=.bu; delie=.2u;

pointe=.2u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numecic decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numecic empat; empat=x11lp-x12=1.55u;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u];

numecic basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; o00=.2u;

plein=1.3u; delie=.3u;

pointeé=i7u; hempat=.7u;

numercic delta; delta=.033u;
z4=(1.6u,delta]);

numecric decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penposé4(plein,180]);

x31-x3e=plein;

y3l-y3ep=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposli(plein,180];
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11=-whatever*(z3-z4);
z101-z10p0=231-2z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numecic empat; empat=x11ler-x12=1.55u;
x7-x4l=empat; x3c-x1=.95empat;
x4p-x5=.9empat; x14-x111-.8empat;
yll=y31; penposl(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31l..{down}z4l)));
pensteoke zle{cight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90);
penposl2(pointe,-90); penposlé4(pointe,-90];
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y120=y1l4p=0; z6e=z4; z13r=211;

pensteoke zbe{rcight}..zbe & zbe..{cight}z7e;
pensteoke z12e{cight}..z13e & z13e..{cight}zlse;

endchacr;

enfor
bye



beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; 00=.2u;

plein=1.1u; delie=.2u;

pointe=0u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numeric decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numeric empat; empat=x11g=x12=0G7;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; 00=.2u;

plein=1.1u; delie=l=lu;

pointe=0u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numeric decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numeric empat; empat=x11g=x12=0G7;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=8.1u; oo0=.2u;

plein=1.1u; delie=.2u;

pointe=.2u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numecic decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numecic empat; empat=x11lp-x12=1.55u;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye




beginchac(“110”,7pt#,6pt#,0pt#);

u#=1pt#; define_pixels(u]);

numecric basdecasse, oo, plein,

delie, pointe, hempat;

basdecasse=5.1u; e0=l=tus;

plein=1.1u; delie=.2u;

pointe=.2u; hempat=.7u;

numecic delta; delta=.033u;
z4=(1.6u,delta];

numecic decalage; decalage=0;
x3=x4+decalage; y3r=basdecasse;
penpos4(plein,180]);

x31-x3e=plein;

y31l-y3e=.5pointe; z3=.5[z31,z3c];
pensteoke z3e..{down}zée;

x11=w-1.65u; yll=y4; penposlli(plein,180]);
yl0=y8=.7basdecasse; z8=whatever[z3,z4];
z10-z11-whatever*(z3-z4);
z101-z10p=231-z3p; z10=.5[z101,z10c];
penpos9(.87[delie,plein],-136]);
y9l=basdecasse+00;

x9=.68[x8,x10];

z8’=whatever[z11,2z10]; y8’=1.25basdecasse;
penpos8(delie,angle(z8’-28)-90);
penstroke z8e{z8’-z8}..tension 1.5..z9e{cight}..z10e---z11e;
numecic empat; empat=x11lp-x12=1.55u;
x7-x4l=empat; x3c-x1=.95empat;
x4e-xb=.9empat; x14-x111-.8empat;
yll=y31; penposli(pointe,-90); z2=2z31;
penpos2(1.25hempat,angle(dicection 0 of (z31..{down}z4l)));
penstroke zle{rcight}..z2e;

if (x7-x4+.2u+x11-x12 > x11-x4):
x7:=.5[x4,x11]-.1u;
x12:=.5[x4,x11]+.1u; fi

penpos5(pointe,-90); penpos7(pointe,-90];
penposl2(pointe,-90); penposlé4(pointe,-90);
penpos6(hempat,-90); penposl3(hempat,-90);
yoe=y70=y12p0=y1l4p=0; zb6e=z4; z130=z11;

penstroke zbe{right}..z6e & z6e..{cight}z7e;
penstroke z12e{cight}..z13e & z13e..{cight}zl4e;

endchacr;

enfor
bye







